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| 3 points problems (mpofARquara 3 povadwyv)

1. Which digits are missing?
Moia wneoia Acitrouy;

(A)3and5 (B)4and8 (C)2and0 (D)6and9 (E)7andl
(A) 3kal 5 (B) 4 ka1 8 (C) 2 ka1 O (D) 6 ka1 9 (E) 7 kan 1

2. There are 12 books on a shelf and four children in a room. How many books will
be left on the shelf if each child takes one book?

Mavw oTo pdgi uttdpyouv 12 BiBAia kal oTnv aiBouca uttTdpxouv TEaoepa TTaIdIA.
Moéoa BiBAia Ba ueivouv Tédvw oTo pdgl av To K&Be TTaidia TTapel éva PIBAIo;

(A) 12 (B) 8 (C) 4 (D) 2 (E) 0

3. Which of the dresses has less than 7, but more than 5 dots?
MNoio atd Ta popépaTa £xel AyOTEPES OTTO 7, AAAG TTEPIO

g IOOTEPEG ATTO 5 KOKKIOEG.
)/ e \, Y/ @‘\ /| »\J Y\\ <\ \“
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4. There are white, grey and black kangaroos. Which picture has more black
kangaroos than white kangaroos?

YTdpyouv doTrpa, ykpida kal paupa Kavykoupou. lNoia eikova €xel TTepiocoTepa
Maupa KavykoupoU atré aoTrpa;

e e~ e
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5. How many more bricks are there on the larger stack?
Méoa mepioadTepa TOURAC €€l TO EYAAUTEPO KTIOUQ;

(A) 4 (B) 5 (C)6 (D) 7 (E) 10

6. There is a path with square tiles. How many tiles fit in the white area inside?
Y1apyel éva JovoTTaT pe TETpdywva TTAAKAKIA. MNéoa TTAaKAKIa XwpoUuv HEca
OTOV AOTTPO ECWTEPIKO XWPO;

(A) S (B) 6 €7 (D) 8 (E)9
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7. Lotta cuts a big piece out of a cake. Which one is the piece?
H AOTTa KOBEI £va peyAAo KOPMAT atro éva YAUKIoMa. Toio gival To KoPudT;

(A) (B) (B)
8. Ann has é N Barb gave Eve w . Jim has . Bob has
. Who is Barb?
H Ann éxel é @ . O Barb ¢dwoe otnv Eve W . O Jim éxel .
O Bab éxel . Moiog cival o Barb;

(A) @ (B) g ©) ég\“ (D)
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9. Father gives 5 apples to each of his three children. Ana gives 3 apples to Sanja
and Sanja gives half of her apples to Mihael. How many apples does Mihael have
now?

O matépag divel 5 pnAa oe kdBe Eva atrd Ta Tpia TTaIdid Tou. H Avva divel 3 uiAa
oTnv Zovia Kai n Zovia divel Ta hiod atrd Ta uAAa TG oto MixdAn. MNMéoa pRAa €xel
Twpa 0 MixaAng;

(A) 4 (B) 5 7 (D)8 (E)9

| 4 points problems (mpofAfquara 4 govadwyv) |

10. George has 2 cats of the same weight. What is the weight of one cat if George
weights 30 kilograms(Kg)?

O lNwpyog éxel 2 yatdkia Tou 10iou Bapoug. Moo ival To BApog evog aTTd Ta yaTAKIO
av MNwpyog Cuyicel 30 KIANG(KQ);

(A) 1 kilogram (B) 2 kilograms (C) 3 kilograms (D) 4 kilograms (E) 5 kilograms

11. Which kind of square is shown most times?
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12. How many carrots can the rabbit eat, walking freely in this maze?
Méoa kKapdTa PTTOPEI va @AEl TO KOUVEAI av TTEPTTATHOEl EAeUBEpa Péoa aTO
NaBUpivOo;

(A) 7 (B) 8 (©)9 (D) 15 (E) 16

13. Cat and Mouse are moving to the right. When Mouse jumps 1 tile, Cat jumps 2
tiles at the same time. On which of the numbered tiles does the Cat catch the Mouse?
O ydaTog Kal To TToVTiKI KIvouvTal TTpog Ta degid. OTav 1o TToVvTiKI TTNdAEI 1 TTAAKAKI , O
yaTtog TNdAaEl 2 TTAAKAKIA TNV idI1a OTIYMN. Z€ TToI0 a1 Ta apiBunuéva TTAOKAKIO O
yaTog Ba @TACEl TO TTOVTIKI.

A 1 2 3 4 5
7
A1l (B) 2 )3 (D) 4 (E)5

14. Peter builts a podium (as in the picture). How many cubes did he use?
O NMértpog kTiCel £va BaBpo (6TTwg QaiveTal aTnv €IKOva). Méooug kKUBoug
XPNOIYOTTOINCE;

(A) 12 (B) 18 (C) 19 (D) 22 (E) 24
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15. There are 5 children in a family. Kitty is 2 years older than Betty, but 2 years
younger than Dannie. Teddy is 3 years older than Annie. Betty and Annie are twins.
Who is the oldest from all?

Ymrapyouv 5 Taidid o€ pia oikoyévela. H Kitty ival 2 xpovia 1molo peydAn atré tnv
Betty, aAAG 2 years pikpoTepn atd tnv Dannie. O Teddy cival 3 xpovia 1010 JEYAAN
até v Annie. H Betty kail n Annie gival didUEG.

Mola gival n 1o peydAn;

(A) Annie (B) Betty (C) Dannie (D) Kitty (E) Teddy

A=Y

Which is the next?
Moio eival TO €TTOUEVO;

N> = 4

(B) (E)

5 points problems (mmpoBARquara 5 povdadwv) ‘

17. Kasia has 3 brothers and 3 sisters. How many brothers and how many sisters
does her brother Mike have?

(A) 3 brothers and 3 sisters (B) 3 brothers and 4 sisters (C) 2 brothers and 3 sisters
(D) 3 brothers and 2 sisters (E) 2 brothers and 4 sisters

H Kasia €xe1 3 adeA@oug Kal 3 adeAQEG. [oooug adeAPOUG Kal TTOOEG AdEAPEG EXEI O
adeA@OG NG Mike;

(A) 3 adeApoug kal 3 adeApéc  (B) 3 adeApoug kai 4 adeApég
(C) 2 adeApoug kai 3 adeA@éc (D) 3 adeApoug kai 2 adeApég
(E) 2 adeA@oug Kail 4 adeAPEG
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18. In a game it is possible to make the following exchanges:
>€ £va TTAIXVIOI ETTITPETTETAI VA YiVOUV Ol TTI0 KATW avTaAAayEég

¢ &
& -9&

Adam has 6 pears. How many strawberries will Adam have, when he trades all his
pears for strawberries only?

O Adam éxe1 6 axAadia. Méoeg @pdouleg Ba éxel o Adam, 6tav aviaAAdgel OAa Ta
ayxAddia Tou Pe PPAOUAEG POVO;

(A) 12 (B) 36 (C) 18 (D) 24 (E) 6

19. Ann has a square sheet of paper:
H Ann €xel €éva TETPAYwWVO KOPUATI aTTd XOPTi:

]
She cuts these pieces:dz out of the larger sheet above, as many as possible.
KoBel kopudTia he 1o oxfAua autd atrd To TTI0 TTAVW PEYAAO KOPUATI, 0oa
TTEPICOOTEPQ YivETAI.
How many pieces can she get?
Méoa kopudtia utropei va Trépel,

(A)1 (B) 2 (€3 (D) 4 (B) 5
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20. ‘ T Sophie makes a row of 10 houses with matchsticks.
In the picture you can see the beginning. How many matchsticks does Sophie need
for the 10 houses?

H Sophie oxedidlel pia ocipd a1rd 10 oTmiTia ye omPTOEUAQ. ZTNV EIKOVA QAIVETAI N
apxn. Noéoca omptdéEula xpeialetal n Sophie yia Ta 10 oTriTia ;

(A) 50 (B) 51 (C) 55 (D) 60 (E) 62

21. / / \ \\\(

A tile falls off the wall. Caroline has three extra tiles, see the pictures below.
‘Eva mAakdaki(tile) mégTter atmod 1o Toixo. H Caroline €xel Tpia emmimtAéov TAakdkia(tiles),
OTTWG PaivovTal o KATW.

¢ O <9

tile a tile b tile ¢

Which tile(s) fit?
Moio TAakdki(a) Taipidlei(ouv);

(A)aandc (B)aandb (C)bandc (D)onlyb (E) all three of them fit
(A) akaic (B akaib (C) bkaic (D) pévo b (E) kai Ta Tpia Taipiafouv

22. Ana has one coin of 5 cents, one coin of 10 cents, one coin of 20 cents and one
coin of 50 cents. How many different values can she make with these coins?

H Avva €xel €va VOUIoUa TwV 5 oevT, éva vouioua Twv 10 ogvr, éva vouioua Twy 20
oevT Kal éva voulopa Twv 50 oevrt. MNdoeg dlapopeTikéS agieg utropei va KAvel e autd
Ta vouiopara;

(A) 4 (B) 7 (C) 10 (D) 15 (E) 20
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23. Ania removes a small cube from four corners, as shown.
H Avva agaipei €éva Jikpd KUBo atrod TIG TEOOEPEIG KOPUPES TOU KUPBOU, OTTWG QAivETal.

Then she makes stamps using the new faces left on the cube.

How many of the following stamps can Ania make?

MeTd kavel o@payideg XpPNOIUOTTOIWVTAG TIG VEEG OYEIG TTOU £UEIVAV OTOV KUBO.
Méoeg amd TIg TToI0 KATW oPpayideg pTTopei va kKavel n Avva;

g e e

(A)1 (B) 2 ©3 (D) 4 (E)5

24. A square box is filled with two layers of identical square pieces of chocolate. Kirill
has eaten all 20 pieces in the upper layer along the walls of the box. How many
pieces of chocolate are left in the box?

‘Eva 1eTpdywvo KouTi gival yeUdTo atrd dUo eTTiTreda TETPAYWVEG OOKOAATEG TOU 18i0U
€idoug. O KwaoTtag £paye kal Tig 20 0OKOAATEG TOU Avw ETTITTESOU TTOU BpiokovTal

KOTA PAKOG TOU TOIXWHATOG TOU KOUTIOU. MA0a KOUUATIO GOKOAGTEG EUEIVAV OTO KOUTI;

(A) 16 (B) 30 (C) 50 (D) 52 (E) 70

10



